
Worksheet # 1 Answer key

I. y=X
?

- faux

y
'
= ✗

%
- see ✗ + tanx . 3-2×+2

2. f- 1×1 = ✗ cosx - sinx

f-
'

a) = xtsinx) t.co/sxli)-cosx/---xsinx
prep

3. y= see
>
✗ = (secx)

'

y'= 71sec x) b. fsecx - tanx) = 7sec
>
✗ - tanx

4. FIX)= tariffs -4 -45secZFF
f-
'

A) = seif .

1

ya
• (-81×7) = ☒

5. y= cos (f) = cos /×
" )

ykfsin (1×1.4×-2) =
sink )

✗2

I prep

6. y=⇒
= @sx)

"

chain Rule :

sinx

Y'=/ (Cosi)
-

Zlfsinx) = copy
<
0-1 also equals

°"

¥.si#x=secx.-tanx0RQuotient Rule :

y
,
=

(05×10%-1 tsinx) matches above

COSZX
=

sin✗

cos ZX

0% notice y=
= secx by definition

↳
y
'
-_ secxtanx equivalent

prep 6

7. fix)= sinb 1×3-5×7 = (sin 1×3-5×1)
f-
'

1×1=6 (sink'- 5×1)? cos 1×3-5×1 . (3×2-5)

sins 1×3-5×1



8.y
=anx

y
=1.secxx.x =

sec
could also

2ππ 4 anx.x combine roots

9.cos( = - E
r&

sin (7) = -1
Print (x,y)=(8t) is**I

cosBes

10. H(x)=sin (ix) ↳ H'(x) =c0s(7X): 7 =7cos(TX)
- 5

H'(E) =7.)
=

1.(E) =5 X-coordinate

↳
Note:from #9 above we showedthe cos()= -E

OR

1. sinf==# =>tane5 =5
OR

A
7

O

2 secOts=
=>(z=19- 4 =5 =19V5 =355

Note:couldalso use Identities

12. f(x)=tan(2x) +cos(2x) +16c0sX Note:sec(s)=colis)
f(x) =sec(2x).2-sin(2x).2 - 1bsinX

=2sec2(2x) - 2sin (2x)- 16sinx / Match
=

πe
=2

13 I+'Al=Cecacict""I E
⑮

=2.4 -y(23) -() =18- B-A= - is match



13. Diagram:
10

b y
7 O

X
->

Variables:

Let x =Distance from base of ladder to the wall

=Distance from top of ladder to the ground

Given y =- 1 fts,

Find0 =?when y
=3

Equation:
sinE=

Differentiate:

al(sin8) = (i) Note:NeedX-value to solve for cost #

CsO.E=b. dyE
ExtraSolvable Information:

10 x
2
+3z =((0)2

3
⑦

x
2
=100- 9 =9)

X?
↳ (l x =T

Substitute:KeyMoment Info

10s8.E =t.

!.F =5 - 1)

Solve:

&E =-() =- Raa/sec.

Answer:

The angle between the ladder andthe groundis

Decreasing ata rateof Radians per second.
man

Takes care of minus



14. ImplicitDifferentiation

3

*yz
+cosx

=

X.y

zydy- sinx
=x.3y--y +1)e Isolate

m

zyy- 3xy-dyyin the Factor

(23xyy =y3 inix Solve

->

dry =ystsiyee

15. Challenge:prep 6x6
↑

A cos(pstanis
dyx- 1

= - sin+tanbX).(3657+secT (3X1.3) - (s +tan(3x3):(4x+secxtanx)]4 +secX
X 1+ secx<

Chain Rule 4 Quotient Rule

Do Notsimplify!


